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DIET CET MODEL PAPER - 2

Max. Marks : 100
Time : 120 Minutes

PART - |
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. Where did the 101st Indian Sciecnce
Congress meeting held in 2014, February?
1. Jammu 2. Kolkata
3. Chennai 4. Hyderabd
101 % 208058 ) SPofit $srasrenr 2014
(056" QB esdrrom?
L ey 2 8%z 3.3y 4 Eoerd
. Who became the new CEO of microsoft
company, a person from Andhra Pradesh?
1. Thomas Berdich 2. Satya Nadella
3. Steve Bamer 4. Dinesh K Saraaf
(©D0%8 e FHIE LoD 1.9, 4.1 0
m@g@% BoBS T8 AN AAHEATB?
1. o0 595 2. J&g 3E)
3. %S wrsb 4. BIQ 8 $ooH
. Head quarters of World Health Organisation
1.London 2. New Yark 3. Paris 4. Jeniva
08 8% vog (W.H.O.) @58 seogecho.

L ooiS 2. Segaieg) 3. >ES 4. B
. Writer of the Harry Potter series.
1.Arundathi Roy 2. J.K.Reeling

3. Kiran Desai 4. Angsan Suki
‘0“53563*3&)8’ 589 LoBomrd) DDA

1. @%058 oodd 2. 2.8.890R

3. 886 Gaedmd 4. @ORPS Jr&

. The currency of Switzarland.

1.Dollar 2.Pound 3. Franck 4.Crone
Rl BEH k) E3Y

1. o8& 2. & 3. GroE 4. 8%

. According to Right to Education Act-2009,
the ratio of Teachers and Students is.

Doz )P0 — 2009 (HeB0 el (P
FETS® srry, oS0 IS

1.1:35 2.1:40 3.1:30 4.1:25

7. This method is not a pupil centred method.
1. Lecture cum demonstration method
2. Henristic method 3. Project method
4. Laboratory method
Degd Bolbg)s G DK 6.
1. &350 — (S5 K)té@ 2. @93‘5&8@ Kacg@
3. rEg D58 4. BEPTHE HEB
8. Complete silence in a class room is an
indication of
1. Good teaching
2. Class room management
3. Fear of punishment
4. Lack of Interest
S8KBEOS 78 Dot KD
1. Hhod &5 2. BBKB ASressiredgo
3. $508PB gaho 4. 138 Gitutatel
9. A good teacher plays which of the following
role.

1. councellor 2. facilitation

3. friend 4. all the above
2.8 GIREYIN (Bod PG H5R0Te.
1. zﬁmécﬁ@éxﬁ; 2. §)‘°é6§ 88

3. QYD 4. 2

10. For the professional growth of teacher, the

activity you would prefer doing most is.

1. Mutual sharing of experiences and
information with other teachers.

2. Attend to the school regularly

3. Write to the authorities to conduct training
programmes as per the need.

4.Acquire as many qualifications as possible

AL v ) 9B Sowol AHHSOP 9%

NEVRI OS5DEL0H8E"S E)&g0.

1. 838 GarEaines® edgarots, Sraroed)
BEHBo Ho5H8sSE0

2. PBTH SN H0re Sadosesio

3. eSJTPoBIDEoNT BFes 58BN
QBEP0EE HT OB (DKo

4. HBIR) regiBen SorHos*HKo




PART -11 (A)
GENERAL ENGLISH

11.1f you ate less (choosing the most
suitable clause)
1. you will lose weight 2. you can lose weight
3. you could lose weight
4. you could have lost the weight
12. Shankar was met with an accident. He has
become amnesiac. What does the
underlined word means.
1. disable to use his limbs 2. loss of speech
3. loss of sensation in some of body muscles
4. loss of memory
13. Sorry for the
1. interrupt 2. interrupting
3. inturrupted 4. inturrption
14. Of these two mangoes choose the
1.good 2.Dbest 3. better 4.none
15. He bought a book (change this into an
interrogative)
1. does he buy book? 2. did he bought a book?
3. did he buy a book? 4. do he buy a book?
16. I told him that he was not working hard.
(the above sentence when converted into
“Direct speech” would be)
1. I'said to him, “You are not working hard”.
2. [ told to him,” You are not working hard”.
3. | said you are not working hard
4. | said to him, he is not working hard

17.1put___ “one -rupee - coin” into___ weighing
machine.
1.a,a 2.a,the
3.an,a 4.the, the

18. Muslims fast in the month of Ramzan.
(Identify the parts of speech)
1. noun 2.verb 3.adverb 4. adjective
19. Although he is rich, he is not generous
(If you change the above sentence into
simple sentence you will get)
1. Inspite of his generosity, he is rich
2. inspite of he being rich, he is not generous
3. despite his richness, he is not generous.
4.though he is not generous, he is in richness
20. Howlong
(choose the right answer)
1. have been sleeping?
2. has been sleeping?
3. had been sleeping?
4. should have been sleeping?

PART - 1l (B)
GENERAL TELUGU

21.“c0(§ P8 880" TR S0 HBsPESS DS
D V0TV P WPIPH0 DENH?
1. @Trodtargeoseso 2. HEesdolrdeoseso
3. Voo (@eosedo 4. @oBRHEPde0s 80
22. eoifen odre?
1. © 08 ®o S8 GoR
2. © 08 ©: S8 GoR
3. © 508 T HEE SR
4. © 008 & H5%H Gord
23. ‘B8 e SO (Tonrd) D08 @odso
QTN 0.
1. 008008

2. TresTeeSBoH&8

3. BHIH 4. HoEAPSeeR08
24. 85 ©o(B3SFerdard) S 550 Hol Inen

LT

1. 65%&“36(@ 2. ©3eag DB

3. doeed Lo 4. Jgr DB
25. “BFPH” 3.

1. 8 $0HA 2. 8Qo® H0HB

3. %0 DoDE 4. Trex8o

26. “é@ﬁ%é JSE0” EE N?

1 30 2. repd8 3. gensurd 4. §Iegnd
27. S0J5dEGo SBOIFTER) PO By EFe Do

O?
l 1. HBXeS0L0%H Bsgen 2. Teow - B

3. sP0d0 BFHen 4. 8Ferd0
28. “@gvro o&PSb8en” & (Koo J566?

1. S0 éggé;:ﬁ:oa 2. BoFP @8))8(?5

3. J0&rd TIRPTS 4. 8.2.3o(es5yea50
29. DY) (dgrdorr Ko Jerds (DB 6?

1. 3o 2. 8geld8 3. 8% 4. KO8
30. Bo& @JXTHE (Baben 28 JIPDE (8D

EOK TR 5% DOETE?

L %088 2 JockwE 3. Pl 4. BoE
31. “ofif SHTPaHE SHBEHY” w0l

1. P05 2. éoo)eéago

3. 85155080 4. g0 HBD
32. “Dérdoznen” dre?

L ofdeo 2. Eadgen 3. DEIeen 4. sPabden
33. “Sg HEEo” wd wlo 88 HSo.

1. drsrocho 2. 848 3eo

3. SHZr® 4. RSB
34. “@B SESEPSE HOF Treh S’ Bd D

g,

L orsrdy 2. Sooswy 3. Sods 4. S5
35. “DF 8" JEHD Tocdhre

L Do + D& 2. D& + D&

3. o + & 4. DH& + D&




g9, xt =5 = k=
o 1.625 2.100 2.5 4.4
G061 +52+53+ ... +100 =
1.3775 2.580580 2.6325 d4.1275
S1. The computers nowused are cailed
1. Pascal computers 2. Libnez computers
2. Mevuman computers 4. Babbage computers
ErpMo arioes® el ol
L SRl Soliial 2. Dibf Solmtal;
3, EeEeT Soli | arEd Bolieias:
52 Sec(B0+ 3=
. 2, Goifed oriediceno 1. -meg 2. secd 3. med g -secd
Loaris rlmdomno 4, mi|bde orEdioeao '
PART -l {A 53[ _] 'H order of matrix p (p S0Smmo)
] o
MATHEMATILS 1.3x2 2.2x1 2.2x3  4.3u1

41, The largest numberwhich devides 77,147 and sa S = . W,
262 to leave the same remainderin eah caseis. |~ os-Sing= 3 Sin#=Coss+Sing=__
n_u_ 147 f.l_:'.-\.--\.-:...g'_--\.-- ROl MR -\.-f:\.l.._-\.-\..-\. 1. _'qri Cosg 2 _\Jﬁ Sin &

e Grhod @8 hE Rogy, o 3.2 Cosd.5ing 4. 25in g
- ::.Iuth' 4 ":1."‘906' Rt :':1”34 55.The angle ina majorsegementis as an
o Unethind ot tlitls______ percent of 159, 1.Right angle 2 Obtube angle
200 5 an aodn 1a4d a5 al =T el .
I'::::L ' 5 2 L 3 1 = 4300 ZAcute angle . 4. Staight angle
. _'\...-5 u.l !;"l .:;:I-\_-ul.l.- -\.l:".J E"E20....

3. The length of aredangle increased byS0%. e
To maintain the same area, the percentage of L cesEme < By= Sho
vuidth will have tobe decreazed l:n,r ..... 3. e B 4. e B
e ArEsss fren 60% bodndna. B |5Ei The rernaun-:ler wihen 2w P - 100+ 24 s
Fra'e -\_-_:_-“-z_'i'_'-: I.-\.--\.':Jr_n.-" lr_'l fotinely ado, divided b'!,l'le}i-Sl'l 1= - .
1,60 % > TE W AT AL M A A0 % Zat- Tt 0w+ 29 i :-.-'. ;_3{'3:|r_’l :-,.-.':l..ll-\_- JT

44, Mods of he scores7, 8, 11,13, 16,17, 19 ia. il o
7.9,11,13,15,17,19 Dexdio oiodsim., . 1.9 2.5 2.1 .0
1.13 2. Hu:-rn-:u:IElam—.,'a.,;-i:.: Bu3.14 4435(57.20 = 20 = &0 =__

5. False implicaton amongthe following '

i 1 255 TIPS ol lata a 155
statements is.... B . e i
Bof srdioherndt o %E._'— el Gg. (A-BYTB-R)=___
1.3x56=0 = 48=12 Z23+2=0=4x3=12 1. (AT BrB-&) 2. (ATTERAT B
332518 = d23=F S hZ3=10=9=x3=7 3.4 7Th 4.8 1 B

45, Letf: R —Rbe defined as fixm2x - 50, Log 1 =
Thent(73=___ _ 1.10 2.1 3.0 4. None
f:R—=RE fxF3x'-5m Dodoiads T 7F _|
4 O i o -1".1” 45 i 3 4 2 5
L= A [ ) . i -E!_-l.!E!\.E _:_,E:E=_'_="'.-‘E"E:l:=

d-? Theline whichis eql_ur_lg«_:tan‘l' am s and ™ axes 4 5 36
E ) i _ 2 5 4
X eels Al Sedol” 4o TR . 1.2:3:5 2. oo T

_ _ 36 5
1.w=2x 2. xm+y=z F. y=2x+1 J yv=x

42.The length ofthe line sagment formed bythe = EEE 4 45 - 1E - o0
line 3x+dyw=24 When itizintersected by x B T
anl:l"r’ Fxesis untis.

wt -'4'5,r 24 x, ”“rm., '_,du.ﬁ._w potod
1.5 210 3.25 4,24




= TL - - &
'.1'1.III 1

& [23son
ifferantcalours iz,
Refraction of light
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3. o8 DLgho 4
.The maxzimum heightreached I:--ra Body if it
projected with avelocity of 40 mi=zecis

(3= 1El m."Eecl

40 D07tk Irod® pE DA B35
a.4a0m 2.60m 2.80m 100 m
Jhich of the following is not correct.

1. Actinium series - (Gn+30 series

Tharium series - 4n series

o Udranium series - (Gn+2) saries
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.Dring a rh#mlcal change, maﬁer i= nmthnr
created nor destroyed, This isstated inthe
1. laweof definite proportion
2. charles [aw
chaw of conservation of mass

lawof muluple propordian
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2. Mercuny, Mars

. Earth, Jupiter
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e
el

FIEI'IIZII.IlLIITI ...

- - il -
=

T a i = Tl
i, wl '\-d'\-'-' '_.l_ U-"\_'-..-I [
=

1.2 5e, 25 om 2.1 zec, 50 om
2.1 zec, 100 cm 4, Z2=ec, 100 cm
The lonizationpo

2. lncregsesfrom top to bottom in a group
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PART - Il {C}
BIOL OGICAL SCIFHCFES
The tissue under the skin i=
1. carnisious 2. adipose
2.malfigion d. nane ofthe
PP Y [a—
L ol ) Sl
1. s fadion 2
e Y [ 1

. Choose correct to cause of pumps

1. wirus paramixo perotides

.bacteria - paramixa perotidismuomps
wibfio bacteria
czalmaonella - wiras

Afitamine has cakiferal chemical name, identify
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74. Quinine drug used in freat for this
1. Maleria 2. Choleura 3. Dengue 4. Deepsleep
8IS 0 B $aho B L.
1. 586asr 2. Booe 3. Borrg 4. ©8 JE
75. The new technology for remove of oil float in
oceans.
1. Bio Technology 2. Tissue culture
3. Genetic Engineering 4. Gene therapy
Bm(Eeod® $H0d BEN0 SoR0B WBTES
Bzeed
1. 2&r8sed 2. BryBse
3. BIAE moxudooR 4. 25 D8
76. National rice research institute centre is located
at this place
1.Manila 2. Cuttock 3. Delhi 4. Hyderabad
58 $68%5 BolBo Ked (pdachorr)
1. Qer  2.8&5 3. 80 4. ZeiSoeerd
77. The founder of purification of milk.
1. Alexander fleming 2. Lue Pasture
3. Villium Harvae 4. Linnayus
oo %a% Foso Ded QREY
1. ©3rpoid RHavoh 2. erow 60
3. DOSHo HETg 4. OO
78. The O, layer present in this atmosphere layer is

1.Tropho 2.Strato  3.Ino 4. Litho
858 8 Ko wSdeo
L' 2 s 38 4. &

79. The Enzyme present in child, but not in adults is
1. Pepsin 2. Emylase 3. Renin 4. Sucrase
2088 Hos, 'zbcge.if 82 doBo HBoSod.

L 2)S 2. opBD  3.308 4. BES

80. The enrgy librarate from1 gram glucose

1 (e Kr8er K0 DHde odhy 48

1. 9.45 kcal 2.4.95 kcal
3. 4 kcal 4.5.45 kcal
PART - lll (D)

SOCIAL STUDIES
81. Minto - Marely refoms were introduced in
Does® - $r3 doyBeaen (Bob Sonst @3%336%363

1.1905 2.1909 3.1919  4.1935
82. Brihadeeswara temple was built by
1. Rajendra chola 2. Raj Raj Chola

3. Vimaladithya 4. Kulottunga Chola
aaa(s"é%ogé 3@0@&’)& 206&0&)26@63.
1.oeEos &5 2. ooes Toes S
3. DoerH S 4. %90 ¢
83. Women education was encouraged by
1. Dalhouse 2. Warren Hastings
3. John Shore 4. Canning
& DG EGEPODSToD IHE?
1.8S5% 2. 85 $FYPOR
3. &S ard 4. 80h/
84.Who was the author of Divine comedy.
1. Dante 2. Patriarch 3. Raphael 4. Micheal
&SR P& Bond K.

L wod 2 B 3. opS 3. 1BS

85. Marshal planis a
1. Economic plan
3. Social plan
S8 S ($HedE a8
1. 8% (Her98 2. orasdah (HeaedE
3. Jodn¥ (HeaedE 4. 508 (s

86. Green revolution is closly associated with the
cetilisation of.
1. New fertilisers 2. New pesticides
3. High yielding variety seeds and proper water

resource management
4. All the abbove
588 Qo (Bod B B8 [Jo20G0 &od.
1. (B8 EJ0HE dBodhen
2. (B8 (8 HoBEE svotven
3. Q8 drvad K)EE) DETren, VB 3% (HBH
QDBen 4. I

87.Self reliance was declared as the main (aim)
objective in the
1. first five year plan 2. second five year plan
3. third five year plan 4. fourth five year plan
Syaodd PHOTOND @ (De5edE (B ©F0
L. SnSE HoBNYG, (Derds
2. BoKS HoBNY, (DezedE
3. Qi HOWHY, (HeadE
4. TPOD HoBBY, (Heed

88. If expenditure is greater than the receipts budget
is known as
1. surplus budget 2. balanced budget
3. deficit budget 4. none of these
orathe o8 505en DENS 608 @ aagéSK)
N00EPE?

2. Pollitical plan
4. Religious plan

1. iHdH aogés 2. 30%HOS g
3. &% agds 4. 23D =H
89. Urbanisation means
1. civilisation 2. increase in literacy

3. increase in employement

4. growth of urban population

K)éégs%ééaa 3w

1. $15688¢es 2. @FTPRgE BHE

3. 6658 DS 4. H&e0 g ENHEY

90. In a free market economy....

1. the role of the Government is maintain Law
and Order and National Security

2. The role of Government is to control produc-
tion and consumption of goods and services

3. The Government owns all factors of
productions

4. All goods and services are free goods.

) &0 SIeE zééééé‘s....

1. (Hgb&0 2208 S, P&OH PSd Soo(EDH
3&@853065.

2. (08h& s Sdyden, Dde &8 DADoeren
Qa%o(Bohersr HdMSo.

3. [BghEEh GE)EE 5PE5Pe AireirIT Gotnod.

4. o) SDe, Dden &S 25@55)65.




91. The concept of “Election” came in to existence
by which of the institution elections held in 1892.
1. Provisional Councils 2. Local Bodies
3. Lok Sabha 4. Rajya Sabha
1892 & Bons® B8 ABEPoDS Yo & $od
‘ABen’ O3 eSS HOSHo TehBod.
1. [Ero&cdh ooderen 2. @;K)é Sogen
3. &% %8 4. oreyg g
92. The word “Secular state” was included in the
preamble by which amendment?
1. 44th 2.42nd 3. 29th 4.32nd
‘B8 Treyg0’ 0 HweR) Trersoll (BRBES° H 158
Toe FoP)5?
1. 445 2. 425 3.295% 4. 3235
93. Zilla Parishad Chairman will be elected by
1. Directly by voters
2. Members elected to Zilla Parishad
3. All the President of Mandal Parishads
4. Sarpanch in the district
Bep HORE FOS & Dore IyElateei.
1. £.683 (D580
2. Ber HOBRH MNS &S $ahgeD
3. oo VN BFHD
4. 8ers ¥ )oHe
94.Which of the following do not belong to Rajya
Sabha?
1. Upper house 2. Temporary house
3. permanent house 4. all of the above
8ob AS® DO Tregds $GoHE?

1. 0D K8 2. YO8 g
3. BEE 0 4. 25
95. Which Article Prohibits Untouchability.
1. 14th article 2. 19th article
3. 21st article 4. 17th article
& Tregol (8B ‘@oTISTRY An0B.
1. 14 (H88es 2. 195 (H88¢es
3. 21 (H8Bes 4. 1785 (H88es

96. On the surface of the moon.
1. mass, weight decreases
2. mass remains constant, weight decreases
3. mass decreases, weight constant
4. both do not change
SotH& &HBSw0 s
1. (B&50°8, 20y ééﬁ(?@cm
2. (B5350°3 ?ap)éom 608, 28D e‘é?ﬁgéé)o&
3. (B8g0°38 é@, 280 ggéom €000
4. ([B8g0°8, XY BoLr S°8)

97. NIFE denotes

1. crust 2. mantle 3.core 4. earthquake
DD ) Hiso BID JeDK08.

1. grdHerwo 2. grdaed0o

3. BolBsodkeo 4. gedoaren

98. Which Nomadic Primitive tribe lives in the

Amazon basin of the Equitorial region

1. Red Indians 2. Pigmies

3. Head Hunters 4. Samang
aﬁﬂﬁ;tﬁgﬁw S00&0ostD), wihers $& HdToSt
D50 w8 BK.......

1. BE @0&0H% 2. Sijeo

3. @& rowb) 4. J%5eoihHen

99. Total coastline of Andhra Pradesh

1.810km 2.972km 3.963 km 4.1014 km
eo(BH5E &8 By LD

1. 810 8.5n. 2. 972 8.5n.

3.963 8.50. 4. 1014 8.%.

100. Which counrty extended co-operation in the

establishment of Rourkela steel Industry?

1. Russia 2. America

3. Geramany 4. England

(56083 BoroE® ErB)er 6y ST & B
SSeseos® @;8}0633&26&5.

1. &aks 2. B

3. et 4. sorpok
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